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1. FotepiR ooe Warnzs Teq fl 8

Answer the following as directed :

(@) ST I (o1 Seay fern | 2
Write two objectives of Industrial
Relations.

(b) & FHRT Ay FACH G JE | 1

(o (1 oy foran )

Prohibiting an individual employee is
known as lockout.
( Write True or False )
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(2)

(0 ere swea ARERRR W owE o
TR w9 EEs |
(o 7 S, fora )
Ministry of Labour and Employment
looks after the Industrial Relations
situations in the country.
( Write True or False )
(d) AP OWE  FAeIS RSN (I
RGN ?
Who developed the systems approach to
Industrial Relations?
(e) IHRA o* ALY FOFE ST ANwS
FfRAT TS 7 |
(o7 @ Tu7 o)
The scope of Industrial Relations does
not include employee and customer

relations.
( Write True or False )

() TOTSR TO! (AE ToaEy 790 |

Mention two characteristics of

arbitration.
2. 5 G forar (R e wife) 5x4=20
Write short notes on (any four) :
(a) SraiE =
Industrial Peace
(b) B 4
Forms of Strike
(c) TYEE ™
Collective Bargaining
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(d)
(e)
b
3. (aq)
(b)
4. (a)
(b)
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(3)

AT
Conciliation
S i€
Unjustified Strikes
f@-faw R focm=

Win-win Negotiation

S www I R g o= Srwie
YT SRR AL 4 | 3+10=13

What is meant by Industrial Relations?
Discuss the significances of good
Industrial Relations.

¥/ Or
‘(TR IR wREe SRR St
TR IS CBrT o | 13

Write an explanatory note on Industrial
Relations in India in post-globalization

’

era’.

TR AR W el AR 8o
afb 59 (o1l forw o 13

Write a brief note on ‘Government
policies and Industrial Relations’.

Y9/ Or
Srfae ME cHae W NS R
41 |

Assess the role of labour policies in the
maintenance of industrial peace.
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(4)

5. (a) The Industrial Disputes Act, 1947
e TrEd @4l W@ ‘strikes’ ¥
lockout’ds & &2 Strike/w s %
lockout /@ARed «ft gel wfe 41 | 4+9=13

Define ‘strikes’ and ‘lockouts’ as used in
the Industrial Disputes Act, 1947. State
the comparison between strikes and

lockouts.
241/ Or
(b) ST TOAPE TR WE FEAFAHZ
ICEADA 41 | 6+7=13

Discuss the causes and consequences
of industrial conflicts.

6. (@) wRwe S fama dftan sre fF=efeq
AREPTEI A S0 A 40 13

Explain briefly the machinery of
prevention and settlement of industrial
disputes in India.

e/ Or
(b) A (Negotiation) Jferca 5 e 2 Srfa
fFam fFedfEr coae NN wI1-ed Ay 41 |
3+10=13

What do you mean by negotiation?
Explain the significance of negotiation
in the settlement of industrial disputes.
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